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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]

3500

3000

2500

EcFzExp
ECdef
EcParam

water_ec

20 0 ¢ 2t % 2t X ¢ ¢ % 2t

WHH XWX RWK

2000

1500

1000

Warning: co

[ EcFgro’, 'EcPltng

1 is missing

500

25

50

75

100 125 150 175



3500

3000

2500

2000

1500

1000

500

Plot [ ECopt’]

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-15 0
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P3-15

RriE) | EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

07:30 288 150.0 2.888 |/\f| FnHA@07:30 KENFERF (KRABEREE)
08:15 288 150.0 2.888 |/ F| FiHPe08:15 K4EFEFF (KRAEREE)
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P3-15

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE
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10:15 283 150.0 2.888 FA| {Ri&@10:15 Bz (RAEEE)
12:35 283 150.0 2. 888 FE| 1Ri%e@12:35 Bz (kAERSE)
13:25 283 150.0 2.888 FA| {Ri&@13:25 Bzl (GkAEEEE)
14:05 283 150.0 2.888 FH| 1Ri%@14:05 B3h (KAERRSE)
14:45 283 150.0 2.888 FE| 1BRi%@14:45 Bz (kBERSE)
15:55 283 150.0 2.888 FA| 1Bi&e15:55 Bah (RAEREE)
23t 2830.0 (100%) 1500. 0 3 FEKEC: 2200, PH: 5.6

MEREHLER 2 5 MEIELRTT (184.0 :
PRIALBRIERE147.0 ml.

HEEIHECE (1760.0 vs 4987.0) 05
FREVEIN S K IKEC 2200. 0

147.0), AlEEHT—R % XA HS
REZ NS RBERPH 5.6, B THEARHAZIFEZhFIEPH, 15F A%




ET (ml/hr/plant)

I

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=74 (2025-06-13)

T e g g e S B S g
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30 _n-,--—-—-—_ P —

VI,V9¢£BV,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

1200
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40
Warning: lcol [FVI',| "FVO’'] missing

60
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- 500

- 100
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2914. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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—— RH
[} RH_obs-rning:—cot— RHo—obs" ] s missing
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m=410, FV0=0 m=460, FV0=0 m=545, FV0=0
1.0

32.90 - o M_E - M_E
347 0.8 - 34 4
32. 85
33 0.6
32. 80 - 33 1
32 0.4
32.75 A 32 4
51 0.2 -
Warning: col ['M_E'] missing
32.70 A
T T T O 0 T T T T T T T T T T T T
600 800 1000 0.0 0.2 0.4 0.6 0.8 1.0 472.0 472.5 473.0 473.5 474.0 545 550 555
m=630,m FV0=0 m=780, FV0=0 m=825,m FV0=0 m=875,m FV0=0
—e— ME 34 - —o— ME —o— ME 341 —o— ME
34
34 -
33 A 33 A
33 33
32 4 32
32
32
31 4 31 4
31 1
T T T T T T T T T T T T
630 635 640 780 785 790 825 830 835 875 880 885
m=915,m FV0=0 m=1075m FV0=0 m m=410,m FV0=0
1.0
34.5 A - M_E 30. 90 A - M_E
34.0 0.8 -
30. 85
33.5
0.6 1
33.0 A 30. 80 A
0.4 -
32.5 1
30. 75 A
32.0 A 0.2 A
Warning: col "MW ] missing
31.5 1 30. 70 0.0
915 920 925 1075 1080 1085 600 800 1000 . 0.0 0.2 0.4 0.6 0.8 1.
m=460,m FV0=0 m=545,m FV0=0 m=630,m FV0=0 m=780, FV0=0
42.5 A
41.90 7@ —— nw | *°] —— MW —— MW | ] —-— MW
41. 88 - 42 0 - 42.0
41.0 1
41.86 - 415 41.5 -
40. 5 A
41.0
41. 84 41.0 -
40. 0
41. 82 40.5 - 40. 5 A
. 39.5 A
40. 0
41 ' 80 L T T T T T 40 0 - T T T T T T T T T
472.0 472.5 473.0 473.5 474.0 545 550 555 630 635 640 780 785 790

m m m m



m=825, FV0=0

42.0 —o— MW
41.5
41.0 A
40.5
40.0
T T T
825 830 835

m=875, FV0=0
41.5 4 - MW
41.0 A
40. 5 A
40.0 A
39.5 4
T T T
875 880 885

m=915, FV0=0
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P3-15

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERE

05:30 283 150.0 2.888 FE| 1BRi%@05:30 B (FkAERE)
06:30 283 150.0 2.888 FE| 1BRi%@06:30 B (kAERSE)
07:30 283 150.0 2.888 FH| 1Bi&@07:30 Bah (KRAMEREE)
10:15 283 150.0 2.888 [Z=| 1®Ri%e10:15 Bzh (REAERESE)
13:00 283 150.0 2. 888 FA| {Ri&@13:00 Bz (RAEREE)
13:40 283 150.0 2.888 FH| 1BRi%@13:40 Bz (kBERSE)
14:15 283 150.0 2.888 FH| 1Ri%@14:15 Bzh (GREBERSE)
14:50 283 150.0 2.888 FE| 1BRi%@14:50 Bz (kAFERSE)
15:35 283 150.0 2.888 |Z=| {Ri&e15:35 Bz (REAEHE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAKFREBRE147.0 ml.
large discrepency for begining water status (316:21.0), set to 316 ml.

REVZ WS RIERPH 5.6, BT FEFNIEIZPH, FEFohiFE

P EKECE (1803.0 vs 5297.0) d 5
FREVEIN S K KEC 2200. 0

147.0), AlEEHT—R % XA HS




50— — T T
VI, V8! 2RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET [ 2000
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1200 1471217312 =
50 1 —1000E
60 Warning: lcol [FVI',| "FVO’'] missing 40
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a0 L
= 5
’»35- o
u E
=
l*_,30" E
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0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtEC0=2829.0, setECB=2200 N
0.6 -
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 N
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
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P3-15_0, Day=73 (2025-06-12)
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32 -

30 A

28 -

”

=

660 860
m=595,n FV0=0

34 -

33 A

32 A

660 665
m=985,n FV0=0

33. 50 A
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—o— ME

43.0
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m=470,m FV0=0
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7
\

470 475 480
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m=435, FV0=0

34

33 A

32 A
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30 A
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440 445
m=880,m FV0=0
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35. 0 -
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33. 0 -

32.5 4

—o— M_E

8é5 860
m=400,n FV0=0
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m=850,n FV0=0

400
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- ME
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0 .
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5 -
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m=925,m FV0=0
0 —
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5 -
0 .
5 .
0 .
5 .
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—o— MW
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38 B T T T
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m=925, FV0=0 m=985, FV0=0

.01 o 42.4 — 7
42.3
42.5 -
42.2
42.0 4 42.14
42.0
41.5 -
41.9 1
T T T T T T T T T T T T
925 926 927 928 929 930 998.0 998.2 998.4 998.6 998.8 999.0

m m



